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Pull of y tor merged vertices

RS RN 1811111 o EE |
ok S 0.8f -1

-------------- X SRR 1 N SO | O S

066

) PSS FEE (LN A A e R PN i N

PRV FRVE)

Ratio
Ratio

.
TTTT T
i
v
.

s
TTTT T
i

.
T

®o=i5=10 5 0 5 10 15 20 05 ={5=16° 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

2 - N 0
F ES u— 0] -
N N N N N N N N =] o
18 beeebee B 3 I R || R
| AT S a e e A1 S S S A
S | I = S S | I S S
F S RCh 1 SIESNTE IS SR S
Co s [
12p-t e S 11 IR 0 |1 SR O S
g SR H ;
F L2 T e
O S 2 A LA -
0.6+ -beeebeend A | SR S
RN FEEWE FEEEE . i T T R T FEee | P SR T ST
Y 1 T C P T Y
i LRV e S | | E | | ________ S S S o 110100
[ 3 |||HHI;HTT|E||| .

0 15 -10 -5 0 5 10 15 20 0 15 -10 -5 0 5 10 15 20 090 1510 5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)




	Contents
	Page 1


